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T9-a (GROUP-A)

S

HHT ﬁé‘?‘f : General Instructions

> 1 3 o TR oh ST TH IR A TH A H 3
Answer in one word or in one sentence the questions of 1 mark.
2 3% a1l YAl o ST @ 50 VSR H, 3 3 del YA oh S AT 75 VR H W 5 b
e YA F IW G 150 VR H I
Answer in about 50 words the questions of 2 marks, answer in about 75 words
the questions of 3 marks and answer in about 150 words the questions of 5

marks.

q9-B (GROUP-B)

-]

EI@T:FW Y99 (MULTIPLE CHOICE QUESTIONS)

wmr=r &9 : General Instructions : [‘{UTYTS : 20 x 1 = 20
> YIF YT TF IHF H B

FEach question carries one mark.

> feu @ el & 9R Swfeus SO W 9 WEl S F fahed YT gEd & 91 fag|
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10.

11.

Write down the correct choice answer with question number from the given
four options.

CLASS-X
MODEL SET FOR ANNUAL EXAM 2017
SET-I

GROUP-A

PHYSICS
aredferss gt 1 22 1
What is real image ?
TR e TR 1 aving @2 1
Which type of spectrum is rainbow ?
TR 1 foea qiuy o fRE YR el S @2 1
Where is used Ammeter in electric circuit ?
faga € # a” o fagerg &0 g 82 1
Which alloy is used for making wire of electric heater ?
e o/ o 4 &1 99 ol 1
Write name of a source of Direct current.
faga favwa ¥ =0 9@ 22 2
What do you mean by electric potential ?
e fare o @ T o YRl 1 STAn 4 fRe S 872 2
Why is used red colour of light in railway signal ?
TEEd R T fae oW o W 72 3
What is difference in Alternating current and Direct current ?
frehe gfte I @1 27 30 fF oW § @ wW §2 3
What is short sightendness or Myopia ? Which lens is used to remove its error.
sEad AU g 94 Ufafa &l e Entes gN ke 5

Sketch neat ray diagram of image formed by concave mirror.
(a) WG@WWT@TW%? When object is kept at infinity.

(b) & a&] A Td ehdl o o s™ @M Wl €2 When object is kept between infinity
and centre of curvature.

(c) 'ﬁaaﬁgaﬁﬁTaﬁ§qTT@Tﬁmﬂé‘When object is kept at centre of curvature.
CHEMISTRY

TErEfts e # R FEE w1 g s % fau gqfea R s @2 1

In which law is satified by balance chemical equation.
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12.

13.

14.

15.

16.

17

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

TR 3 UG 1 THER g 82 1
What is the chemical formula of plaster of peris ?

R ® foF O dAfqd w6 ®1 qfwma F 1 Fed 22 1
What is called process of coating iron with zinc ?

FEA o ARG H H A goleeE w2 1
How many electrons in the outer most shell of carbon ?

Wfeam (Na) o1 WA H&A1 1 8?2 1
What is the Atomic number of Na ?

HFHRRE F 2?2 2
What is oxidising agent ?

. ST sfafwar F= €7 Q@ saE fifw 2
What is neutralisation reaction ? Give two examples.

Heelh o o Ui TR &+ & fou ®F-91 H9sE ST o 3
What were the criteria used by mendeleevs in creating his periodic table ?
Tferd THERS GHIHOT 1 B? TEETR THIOT Rl Hfed S A Savas 872 3

What is the balanced chemical equation ? Why should chemical equations be
balanced ?

TESIHE 1 8?7 WIW U STHIW CEShET o we S T |

What is hydrocarbon ? Differentiate between a satured & an unsaturated hydrocarbon
2

BIOLOGY
fpoe fhd hed €2 1
What is fermentation ?
T Y wRdd & wE 22 1
What is the function of platelets in blood ?
Tifeerfae 93 o = wewl o TH fag 1
Write the name of two components of ecosystem.
TSl ¥ S frw fafy g g 22 1
Write the method of reproduction in hydra.
T TRM A BEA w1 AM e 1
Write the name of fruit ripening hormone.
SIS o 82 Sk T (319&™) BH W BH I THEM € Hehdl B2 2
What is Ozone ? What happened if it is diplited ?
YIHT F 77 TUH! WRRAT T FHIET H I 2

What is respiration ? Show this process by chemical equation.
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4 SCIENCE : CLASS-X

. To[IS o ATt § = Sl § Sl W o o fafee 9y e @2 3

What are different path in different organisation obtaining energy from
oxidation of glucose ?

. 39% Hadq w1 B2 §am 9 fag 3
What is tissue culture ? Write in brief.
. fr-wmEm fRY wed 2 Ty § Rm-fruior & fafa & el w4 5

What do you mean by sex chromosome ? Explain sex-determination method in human
being.

34T,
T o STERATA &1 Th o3 AMifhd a9 Al

Draw well labelled diagram of digestive system of human being.

(GROUP-B)
SEAHICTER T
PHYSICS
(1) T THRI-FRR0T gHAe SUV W ceaq SAIfad Bl #1 WEdA HI0 H G 1 e? 1
(a) 0° (B) 45°
(C) 90° (D) 135°

A ray of light incident perpendicularly (L") on plane mirror. What will be
measure of angle of reflection ?

(A) 0° (B) 45°
(C) 90° (D) 135°
(ii) a1 1 FRUS SYqedAie ard W el 2 1
(A) 1 o SR (B) 1 ¥ %A
(C) 1 ¥ iy (D) A
The real absolute refractive index of air is—
(A) equal to 1 (B) less than 1
(C) greater than 1 (D) zero
(iii) o= 3fie @1 =Aaq 0 e 2 1
(A) 25 o (B) 25 Hio
(C) 2.5 Hlo (D) &Td

Minium distance for clear picture is—

(A) 25 cm ) 25 m

(B
SCIENCE



SCIENCE : CLASS -X 5

(C) 2.5 cm (D) o

(iv) diee (V) SRR Il € SEl C = e, J = S A = SRR 1
(a) C/J (B) J/c
(C) J/A (D) A/J

Volt (v) is equal to which of the followings, where C = Coloumb, J = Jule,

A = Ampere.
(A) C/J (B) J/C
(C) J/a (D) A/J
(v) “faga-am =1 greig g9E” fea @S feren ear? 1
() W (B) @ie
(c) UfERR (D) dR
Who inverted “Magnetic effect of electric current”
(A) Farade (B) Oersted
(C) Ampere (D) Bohr
(vi) W A foem omufd w5t W € 1
(a) 220 vie= ¥ (B) 12 vfige &m
(C) 220 V YA R (D) 12 V YEd 9w
Electric supply in house is of—
(A) 220 D.C. (B) 12 v D.C.
(C) 220 VvV A.C. (D) 12 vV A.C.
(vii) @ o fored q&T ®i%d BW €7 1
(a) 1 (B) 2
(C) 8 (D) 4

a) 1 (B) 2
(C) 8 (D) 4
CHEMISTRY
(viii) dien @R TSk o fa9 o1g &1 0 #ed 22
1
(B) e (B) i

SCIENCE
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The alloy of copper and zinc is called ?

(A) Brass
(C) Solder

(ix) oT=fg fae@a &1 pd HM & M7
(a) 7 9 fuw

(C) 79 &N

(D)

(B)

(D)

(B)

(D)

e

Bronze

Steel

7 o TR

TH 9 i T

What is the pH value of acidic solution ?

(A) More than 7
(C) Less than 7

(x) Teohd 1 | G €2
(A) CH, .,

(C) CH

n-"2n+2

The general formula of alkane is ?

(A) CH

n-"2n+4

(C) CH

n-"2n+2

(xi) M A a0 H qd 22

(C) He

(B)

(D)

(B)

(D)

Equal to 7

None of these

Br

Li

Which of the following is an element of group zero ?

(A) Ca
(C) He

(xii) ohTeA 1 HAIShAl M 8?2
(A) 2
(C) 6

B) 2
(C) 6

(xiii) Trm otend o oo aifen qee 82
(A) Ivth

(B)

(D)

(B)

Br

Li

12

12

Vth

SCIENCE
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(C) VIth (D) VIIth

In which period has maximum number of element ?

(A) IVth (B) Vth

(C) VIth (D) VIIth
(xiv) -CHO sifufwarsiicl goish 1 o1 Hed &2

1

(B) M (B) TUfcesre

(C) o= (D) W

—CHO functional group is called ?

(A) Ketone (B) Aldehyde
(C) Acid (D) Ether
BIOLOGY
(xv) URFEfaw 99 § S H1 YaE B 8
(A) T () fafaferm
(C) wgfeeia (D) |
In ecosystem flow of energy is
(A) Unidirectional (B) Bidirectional
(C) Multidirectional (D) All
(xvi) TRY erafiTe Hfed wd €
(n) wrAr (B) ® H
(c) enitvreRta Rfserret o (D) = Gt #
Plant waste material stored in
(A) Leaves (B) Bark
(C) Cellular vacuoles (D) all of above
(xvii) foremreia gt 9 ot fored sifen wo@ar €2
() < o formeff (B) farsht
(C) wHE (D) Sffamy
According to evolutional view we are more similar to
(A) Students of China (B) Chimpanese
(C) Spider (D) Bacteria

SCIENCE



8 SCIENCE : CLASS-X

(xviii) Q& o1 A= & Hl &g § IR & fafa= o & & SHarelt @ aifef@i wead g

Blood vessels which carry pure or oxigenated blood from heart to different
body parts are called as—

(A) Artaries (B) Veins
(C) auricle (D) wventricle
(xix) R qHE q1 A FHE o GAH ¥ S € 1
() SR (B) e
(C) 1Y (D)
Male and female gamete combine to form—
(A) Zygote (B) Ovum
(C) Sperm (D) Seed
(xx) Tl | HiE oF @i B &1 TRl wer S -
1
(A) TIHA (B) vaTHI=ZE™
(C) W (D) IcHSH
In human being inhaling and exhaling phenomenon is called as—
(A) Respiration (B) Breathing
(C) Nutrition (D) Excertion

SCIENCE



